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(b) By means of Lagrange’s formula, prove that

1. i I . I )
A TR AR

(c) Use Picard’s method to approximate the value of y when x=0.2

given:

dv

O - x.r ‘4 . )

dx With initial condition y=1 when x=0. )
3. Attempt any two parts of the following: (10X2=20)

4 x% y3
s — & i

(a) If Z4 and error in x, vy, z be 0.001, compute the

relative max error in u when x=y=z=1.

(b) The pressure of the gas corresponding to various volumes V is
measured, given by the following data:

Vv 50 60 70 90 100
(cm3)

P (kg cm- 64.7 51.3 40.5 25:9 78

o )

Fit the data to the equation P V¥_c

(c) Use Taylor’s series method to solve

QL

3 )
t"N+#q

=
8

;Y (1) =0numerically up tox = 1.2 with h=0.1.

4. Attempt any two parts of the following: (10X2=20)

(a) Derive Boole's rule for numerical integration.

Find f' (1.1) and " (1.1) from the following table:

x 110 |12 14 |16 18
00 01280 |0.5540 ﬁwu@mo 2.4320 7abooxl
|

| L ]

Awb

(b)) If Vo + Ve = Hoxef+pwn”mUm;aww+upnnﬁo the
find the value of \'s , where Va- V1. V3, .. Ve denotes the

value of dependent variable for a distribution

(c) Apply Gauss elimination method to solve the equations
X+2y+z=3
2x+3y+32=10
3x-y+2z=13
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